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Ch. 2 Warm-Up
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Acids and Basgé
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5. Acids and Bases .. el
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Figure 2.23 The pH scale and pH values of some aqueous solutions
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Calculating pH

[H*][OH-] = 10-14
If [H*] = 10-6 M, then [OH-] = 10-8
pH = -log [H*]

It [H*] = 10-2

log 102 = -(-2) = 2

Theretore, pH = 2
It [OH-] = 10-10

[H*] = 104

log 104=-(-4) = 4

Therefore, pH = 4



Buffers

Buffers: minimize changes in concentration of H*
and OH- in a solution (weak acids and bases)

* Buffers keep blood at pH ~7.4
* If blood drops to 7 or up to 7.8 2  death

Carbonic Acid — Bicarbonate System: important
buffers in blood plasma

H,CO, (carbonic acid) > HCO, (bicarbonate) + H*



Ocean Acidification:
Threat to Coral Reef Ecosystems

CO, + Seawater > Carbonic acid > Lowers ocean
pH
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